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Let our Bartik measure be B; = )", Z;,gy, controls W (including a constant) and outcome

Y;. We're running the regression
Yi = Wiy + Bif + €.

We do residual regression, and denote BZ-J- = Mw B;, Y; = MyY;, such that

Yo =BiB+e

Our estimate for § can be written as (since My is idempotent):
B _ (B/BJ_)fl(B/YJ_)
As a result, it is possible to rewrite this as:

BN anb b= (ZBY(ZYY),  ap= BAD
Ak ¢ K S v ZLBL

Hence, each (8, can be recovered as using the industry share as an instrument for the

reduced form measure.



